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. Find the missing values on the double number line.

O 2 25 45

kg
g

so0 1000 (J O O

Write your conversions as sentences.

. Complete the missing information.

1. 3
o kilogram = grams —km= metres

7kg+§kg= g 12km+ka=12,500m

. Compare the measurements using <, > or =





image2.png
Eva is converting measurements.
She says,

Which conversions could Eva have
completed?

| have divided by
1,000 to convert the
measurements.

¢ 3km —> 3,000 m
¢ 3000m ——> 3km
* 5500g —> 55kg

. 28kg —> 2800¢g




image3.png
Amir buys 2,500 grams of potatoes and
2,000 grams of carrots.
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He pays with a £5 note.
How much change does he get?
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He pays with a £5 note.
How much change does he get?

Eva is converting measurements.
She says,

Which conversions could Eva have
completed?

| have divided by
1,000 to convert the
measurements.

¢ 3km —> 3,000 m
¢ 3000m ——> 3km
* 5500g —> 55kg

. 28kg —> 2800¢g

Eva could have
converted 3,000
m to 3 km or
5500 gto55kg.




